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1 thss ] 3000 m 1 4R 9:00
2 —RAZ SR EL 3000 m 2 A 915
3 — B ] 5000 m 1 48 940
4 maf=s Lz 100 m 6 fH 10.05
5 hss ] 100 m 5 A 10:20
(& —RAZ SR Lz 100 m 5 A 10:30
7 —BSR ] 100 m 7 4B 10:40
8 ma=d Z 100 mH 1 %A 1055
9 —Bak T 100 mH 1 48 11:00
10 —RAZ SR S 110 mH 1 %A 11:05
11 h& Z 400 m 1 48 1110
12 ma=d S 400 m 1 %A 1115
13 | — e Z 400 m 1 48 11:20
14 —RAZ SR S 400 m 3 #H 11:25
15 h& Z 1500 m 1 48 11:40
106 ma=d S 1500 m 1 %A 11:50
17 | — e Z 1500 m 1 48 12:00
18 —RAZ SR S 1500 m 2 A 1210
19 h& Z 200 m 2 A 1225
20 h= 8 200 m 3 #H 12:35
21 —Bak Z 200 m 3 A 1245
22 — A SR 8 200 m 3 #H 13:00
23 | —maw Z 400 mH 1 48 1315
24 — SR 8 400 mH 1 % 1325
25 | ek | B4 5000 mW 1 48 13:35
26 h= Lz 800 m 1 % 1410
27 h&s E] 800 m 1 48 14:20
28 —RAZ SR Lz 800 m 1 % 14:30
29 | —pam ] 800 m 1 48 14:40
30 —RAZ SR Z 4 X100 mR 1 % 1450
31 — B 8 | 4x100 mR 1 48 1455
32 h= Z 4 X100 mR 2 % 15.00
33 h& 8 | 4x100 mR 1 48 1510
34 — SR Z 4 X400 mR 1 % 1515
35 | —m@aw 8 | 4x400 mR 2 A 1520
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1 | PEsn—ms 5 TR 11 930
1 | ¥ar—ms « T 17 9:30
2 |pEek—mi * R 11 10:30
2 SR—i% 7 B & & 10 10:30
D Y B 0 B B 3 10:30
3 SR— B = BB 9%k 7 12:00
4 2R—i% 8 I\ —1% 5 12:30
4 SR— 7 NN — = 5 12:30
5 |h¥ar—B| =8 E 5 % 5 13.00
5 |¥asn—mnB & £ = o 9 13:00
6 e o B o 9 13:30
6 SR— £ B ] 8 13:30
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